SRS mmm%mmmz«mmnmmmwmemn.«m::m}wmmwmmnwmmmmmmzmxammmw}}ﬁw“>>;>;s>)»,;$ i Rhnk
N e B e b R
LR s R b B

AUITION

<
<.

C.

IR
SRRSEER R

S
CHEG

Student Name

FhbbiE

REp ey

A

i

1018

Funct

inear

L

Review Topic

N R R m»mmmmnmmmmmwwmmmmwuxnnmmwmnnwmmnmmuﬂmm
e s L S
BEEE R b A R SER R B

Course - Paper 1)

iminary

(Prel

Year 11 - 2 Unit

Pl

(AR R
AR
RHBIR N R

s

i

»»>asa)x».;>»mmu>wvmummm.m:wnmwnmﬁxm»mummmwmmmmmwmw
it

%
i
s

5
i Lt

QaiebRis x..xtv.xv.xxxxxxxyxxxxxxzx

7

G S
S
RS

it

LTS
Bty
i

ARSRSR
SR T S

EEpBHA

:>).»»,»»;nmm»unnmmmmmmm»nmmwmmmnnmmwmnmnnnmwmﬂnnmnnuvw
AR SAn

RS

SaR

SRR

i

HaRaaRLE




YEAR 11 - 2 UNIT REVISION - LINEAR FUNCTIONS PAGE 1

Question 1

Without using square paper, plot on the Cartesian plane the three points 4, B, C , whose coordinates ate
(-5,3), (1,-5), (2,2), respectively.

(a) Calculate the length 4B, (b) Find the equation of the line AB.
(c) The line through C, perpendicular to 4B, meets AB at N. Find the coordinates of N,

(d) Hence, or otherwise, find the area of AABC.

(@) 10 units (b) 4x+3y+11=0 () (-2,-1) (d) 25 units?
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Question 2 ;
The point Q(=2, 1) lies on the line k£ whose equation is 9x — 2y +20 = 0.

The point R(4, -2) lies on the line / whose equation is 3x+y—10=0.

(a) Show that & and / intersects at a point 7 on the y-axis.

(b) Find the equation of the line m which joins Q and R.

(¢) Show, by shading on a sketch (not on graph paper), the region defined by the three inequalities
Ix—-2y+2020, 3x+y—-10<0, x+2y=0.

(d) Find, as a surd, the perpendicular distance from P to m.

(e) Hence, or otherwise, find the exact value of the area of the triangle bounded by the three lines &,/ and m.
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(a) intersect at (0,10) (b) x+2y =0 (d) 445 () 30 units?
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Question 3 :
(a) A(1,8), B(3,7) and C(-2, 5) are three vertices of a parallelogram ABCD.

Find the coordinates of D.

(b) Show that the points A(3,-1), B(7,2) and C(1, 10) are the vertices of a right-angled triangle.
Also find the area of A4BC.

(@) (-4,6) (b) 25 units?
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Question 4 :
(a) Find the equation of the line passing through the point (2, 7) and parallel to the line 2x -3y =38.

(b) On a sketch indicate, by suitable shading and labelling, the region {(x,y) : y =2 x} N {(x,3) : 0 <y <6}.

(@ 2x-3y+17=0
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Question S :

(@) The three lines 3x—y =6, 2x +y = 14 and y = 0 enclose a triangle. Find its area.

(b) The two perpendicular lines 3x + 2y = 12, 2x+ay = b intersect at the point (2, 3).
Find the values of a and b.

(c) Show that the points (2,7), (5,13), (4, -5) are collinear.

(@) 15 units®> b)) a =-3,bh =5
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Question 6 :

(a) Give three inequalities satisfied by every point in the interior of the triangle with vertices
0,0), (1,0), (0,1) and such that no point outside the triangle satisfies all three inequalities.

(b) R is the foot of the perpendicular from the point P(-5, 10) to the line 4x -3y =0,
Find the coordinates of R,

(a)x>0,y>0,x+y<1(b)R3,4)
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Question1 - . ) . o )
Without using square Vunaﬂ plot on the Cartesian plane the three points 4, B, C , whose coordinates are
(-5,3), (1,-5), (2,2}, respectively.

(a) Calculate the length 4B. ®) m..i& the equation of the line 4B..

(c) The line through C, perpendicular to 4B, meets AB at N. Find the coordinates of N.

(d) Hence, or otherwise, find the area of A4BC.
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Question 2 : .

The point O(-2, 1) lies on the line k whose equation is 9x—2y+20=0.

The point R(4,-2) lies on the line / whose equation is 3x+y—10=0,

(a) Show that k and / intersects at a point 2 on the y—axis.

(b) Find the equation of the line m which joins @ and R,

(c) Show, by shading on a sketch (not on graph paper), the region defined by the three inequalities
9x—2p+2020, 3x+y—10< 0, x+2y>0,
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uestion 5 :

(@ .EB three lines 3x~y=6, 2x+y= 14 and ._\ 0 enclose a triangle. Find its arca.

Us Su-h Y- itk

(b) The g.o ﬁo_ﬂob&c:_mn lines 3%+ 2y =12, 2x+ay=b intersect at the point (2,3)

Find the values of @ and 5.

© mroi that the paints (2,7), (5,13), (—4,-5) are collinear.
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(a) Give three inequalities satisfied by every point in the interior of the triangle with vertices
(0,0), (1,0), (0, 1) and such that no point outside the triangle satisfies all three inequalities.

() R is the foot of the perpendicular from the point P(-5, 10) to the line 4x -3y =0.

Find the coordinates of R.
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